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4 % (Incidence) p.5

* Incidence=total events/total person-time

— Person-time
* Person: normal cohort, & (f & + ¥ 5 %) R "k 4 B

 Time: 1 &
Incident cases
orma Follow-up
Cohort
\LCensored subjects J

otal Coho
Disease
Cohort

Follow-up /(Death or recurrence |

 Censored cases (still )
L alive)




M4 T i

R4
R4 M F‘lﬁﬁ’iﬁim‘@‘i‘ﬁi
(e

Follow-up (Death or recurrence |

J

Incident cases
orma Follow-up
Cohort
\[Censored subjects J

Disease
Cohort

{ Censored cases (still )
_alive)

J

5







2

‘9

(A2 2
(€)% 1&%

‘f’ %3\“

Incident cases ]

Norma Follow-up /{
Cohort \{

Censored subjects ]

Total Cohort

N
[Death or recurrence

Follow-up /

Disease Cohort
(with defined
status)

Censored cases (still )




(B)F & f i %




4.5 - £ﬁp$mﬂ’,§ » £ B~ 15001 % B A

= ST "%ﬁé} 7 1507 A R ET DM OR -

;‘gf‘ I ¥ WF’*@E By HP R RTE ST
A i’— F 081 ‘zF \z ﬂ’}}%}j’\}ﬁa-\éf‘r A
vl A %@5$ﬁalmﬁﬁ



5 Years

Follow-up /[

Incident cases

Censored subjects
otal Coho

1500

. Death or recurrence
Disease

Cohort

150

)
. J

Follow-up /

\f Censored cases (still alive) )
y,

*ERAGEHOEFEY 2577 S B AN E B AR R T LG

10



B 7 % (prevalence)

* Prevalence=m/N
—m: 150
— N: 1500

* Prevalence=150/1500=0.1 (10%)
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4 & (Incidence)

* Incidence=total events/total person-time
— Total events: 68 (not 150+68)

— Total person time
« 1350x5=6750 (not 1500x5)

— Incidence= 68/6750=0.01 (1%), per person-year
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P (prevalence)
| (incidence)

D (average duration) =

* Prevalence: 0.1 (10%)
* Incidence: 0.01 (1%)
» Average duration=0.1/0.01=10 (years)

Prevalence pool

Arrival rate, | . Departure rate, 1
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Question 5
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 Prevalence

« Prevalence _ _
— Prevalence=48/1500=0.032 — Prevalence=50/1500=0.033

* Incidence=total

e |ncidence=total events/total

person-time events/total person-time
— Total events (Incident — Total events (Incident case)
case)=44 =15 |
— Total person-time=14520 — Total person-time=14500
— Incidence — Incidence
» 44/14520=0.003 (event/per- * 15/14500=0.001 (event/per-
year) year)
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— P/1=10.56 (per-year/event) — P/1=32.2 (per-year/event)
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